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von Barkas Frankenberg/s S

intermnes Kegel turniase

25.0%.94

im Socheeizerhaus

Abt, Vollayball &. Plats

Trattnes, A 39 45 32 116
Edhler N aT 33 42 l12w
Eloms, T 37T 44 3z 113
olaa, N 43 42 51 136
Kosohwitz D 44 49 61 154
51 Halz
.- Piat
Morgenstern,H 50 56 63 169
Kunzs , K 52 56 52 160
Witsohal 0 52 50 59 161
Posoraski R 48 58 58 164
Barthel K 44 54 50 148=®
&5 Holes
Vorstand 5. Flate
Baltruaschat LU 40 42 46 128
Sohrai ter, I 47 41 38 123#
Hoibotansz,Jo 45 65 42 152
e ibatans, Jo 51 50 46 147
Eattohe K 42 40 54 136
563 Helz
g Straichwert der Manngchaflt

Abt. Fufbwll T. 4. Flate

Glashauwser P 46 49 46
Gelnert A 42 56 48
Hoheisel D 43 47 4B
Erdnert ,5 46 55 49
Kahl full, K=H 53 &8 50

i 1 mll

Hinig.P 40 52 49
Bargart 5t 55 43 59
Riagas, Th 51 59 56
Winnerl M 48 51 45
Morgenstorn, A 56 &1 58
Abt. Kegeln 1. Plate

Rudalph  E 52 &4 BB
Wagnar D 49 63 &5
Eorn, A 58 T2 &5
Suchland K &0 57 68
Fanalau, H 41 45 45
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1. Kern, A
Z. Suchland, K
3. Rudolph, E
4. Wagner, D
5. Morgenstern, A
A, Kahlfuf, K=H
T, Morgenstern, H
8. Rieger., Th
9, Pagaraki, R
10, Witsohal, G
11. Kunzae, K
12. Bargert, 5t
13. Eopohwitz, D
l4d. Raibotanz. Jo
15, Krdnert, 5
16, Barthel, R
17. Reibatanz, Jo
1B, Grinert, A
19, Winnasrl, M
20. Hinig, P
21. Hohoisel, D
22, Béttche, R
23. Glag, N
2d. Glashauser, P
25, Fanalau, H
26. Baltruschat,
27. Schreiter, D
28. Troettnaer, A
29. KEleam, T
3. Kohlar, M
Cava e 1 o=
ger. Districh Kern
Abt. Kegeln

{Kogmln)
{Eozaln)
{Eegeln)

(Kagolin)
{Fufiball 11}
{Fufiball T}
(Fufiball AH)
(FuBlball I1)
{Fufiball AH}
{Fuliball AH)
(FuBiball AH)
{Fuiball IL1)
(Vollayball)
(Varatand)
{Fufiball T}
(Puliball AH)
(Vorstand)
(Fufibsll I}
(FuBball II})
(Fuiball IT)
[Fubball 1)
[Vormtand])
(Vollaybml 1)
[FuBball I}
[Kegaln)
[Varstand)
[Varstand)
[Volleyball)
[(Yolleybmll)
[(Vallayball]

192
185
184

177
175
171

169
166
164
161

160
157
154
152
150
148
147
146
144
141
138
136
136
131

131

128
123
116
113
112

Hal =

Halz

Hol =

Halz
Hol=z
Hol=
Halz
Hol=
Holz
Halz
Holz
Holz
Halz
Haol=
Halx
Halz
Holz
Holz
Holx
Halz
Holz
Hol=
Holz
Holx
Holx
Halz
Holx=
Hol=
Holx
Holz

131%
146
138
150
171

& 05 Holz

1a1=
157
166
144
175

ﬁd._z Hol=s

184
177
192
1BS
1312

FT3EEB Holz



